9 = n €002 = P X A9 /A8asug
001 010
NOIN@@Q -+ NOImwmwﬁ = ELOZ B T T [TT1T 1 1T 1 T T [TTT T T _|
oo+dgee -+ 10-308'2 = [AdM] L : L! | %L’ | | -
10+38%'T -+  10+30G1 = Hy - %+ IA!AT
I1-4dGS1°G6 = Xni4q N + ]
20-4A¥1'¥ = ajed OOQW [ ] | T T T T ] | I
A9/ AS1auy A9¥ /ABasuy
001 010 001 010
=L [TTT T T T [TTTT T § T [TTT T T 1 T [TTT T T 1
— — N.IO.— — ]
N i - L | i
- - = R _
= 5 > b .
B 7 9-01 S = =
- _ 0 — |
: -+ - X
: : 5
= 3 ¢-01 wz —— 1
- - _ n i | |
n _ ~ B T i
— - @ N ]
= ) = $-0T1 = = 4 % N 3
m_ L1111 1 ______m 1 1 v 0 1 111111

1€€26¥v+Lcc9cvIl SXde

eyow,wuresd

6220 9280€6

s[enpisay

2-01

1-01

(A®¥ s)/syuno)



